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L.

assumes that employees have litile ambition, dislike work, and avoid
responsibility.
a> Theory Y
b+ Theory X
¢+ Self-actualization Need Theory
d ~ Belongingness Need Theory

Which of the following types of managers is responsible for making organization-wide
decisions and establishing the plans and goals that affect the entire organization?

a > first-line managers

b~ top managers

¢+ production managers

d -~ research managers

Frederick Taylor advocated which of the following management principles?

a~ Work and responsibility should be divided almost equally between managers and
workers.

b~ Workers should perform all work, while management should maintain responsibility for
the work performed.

¢~ Managers should perform more work that workers, because managers are generally more
skilled.
d~ Workers can be highly productive even if they are randomly selected for a job.

Employees in organizations with strong cultures

a~ are more committed to their organizations

’

are more likely to leave their organizations
are more willing to perform illegal activities
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are more likely to follow directives from peers
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Which of the following is considered a lower-order need?
a~ social

b~ esteem

¢~ self-actualization

d ~ safety

According to Hertzberg, what characteristic is associated with job dissatisfaction?
a~ advancement

b+ status

¢~ work itself

d~ growth

Planning involves defining the organization’s goals, establishing an overall strategy for
achieving those goals, and developing a comprehensive set of plans

a~ asto which shift will perform what work functions
b~ to determine which manager will be in charge of which department

¢~ for organizational work activities
d - to establish the quality and quantity of work to be accomplished

Why is strategic management important?
a~ It has little impact on organizational performance.
b~ Itis involved in many of the decisions that managers make.

¢~ Most organizations do not change.
d - Organizations are composed of similar divisions and functions.

One of the fastest growing areas of environmental scanning is

a~ regression analysis

b~ competitor intelligence
¢~ reengineering

d ~ forecasting

What is defined as a prediction of outcomes?
a - aforecast

b~ abenchmark

¢ abudget

d -~ aresource
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refers to the rights inherent to a position that allows a manager to tell

subordinates what to do and expect them to do it.
a - Responsibility

b~ Unity of command

¢ Chain of command

d ~  Authority

Communication between two or more people is called
a~ organizational communication

b+ interpersonal communication

¢~ extrapersonal communication

d ~ intrapersonal communication

Falling interest rates are an example of what external force?
a ~ marketplace
b~ government laws and regulations

¢~ labor markets
d + economic changes

is a performance measure of both efficiency and effectiveness of

employees.
a~ Employee productivity
b~ Organizational citizenship behavior

¢~ Job satisfaction
d ~ Turnover

Which of the following is not a type of formal group?
a~ command groups

b~ task groups

¢ - cross-functional teams

d ~ business unit alliances

Reinforcement theorists believe that behavior results from

a~ external consequences

b~ internal personality traits, such as need for achievement
¢~ setting high goals

d » intrinsic satisfiers
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